No. of Printed Pages : 8 MEC-106
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Term-End Examination
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MEC-106 : PUBLIC ECONOMICS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as

per instructions given.

Section—A

Note : Attempt any two questions from this

Section in about 700 words each.2%x20=40

1. Explain different types of externalities.
What are the consequences of negative

externalities and their remedies ?
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2. Explain the concept of Budget Deficit. What
measures are taken to finance it by the

government ?

3. Distinguish between impact of taxation and
incidence of taxation. What factors

determine the incidence of a tax ? Explain.

4. “It 1s held that foreign debts entail a greater
loss to the economy of a nation.” Do you
agree with this statement ? Give arguments

in support of your answer.
Section—B

Note : Attempt any five questions from this

Section in about 400 words each.5%x12=60

5. What 1s median voter problem ? How does

the opinion of median voter prevail ?
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Write an analytical note on Arrow’s
1impossibility theorem.
Explain ‘spillover effect’. In what ways the
spillover effect can be experienced by a
country ?
What is meant by merit goods and non-merit
goods ? How do you use these concepts for
policy analysis ?
Why are certain economic ventures not
undertaken by governments ? What are its
policy implications ?
Write short notes on any two of the following :
(a) Indicative planning

(b) Role of Finance Commission

(¢) Fiscal Federalism
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11. What is the economic rationale of levying

taxes by the government ? Distinguish

between proportional and progressive
taxation.

12. Distinguish between any two of the

following :
(a) Rival and Non-rival goods

(b) Revenue expenditure and Capital

expenditure

(¢) Public choice and Social choice
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MEC-106

TRt SUTFET (3Tef9TTe)
(Tm. g, 9./, T, 3. W)
LGRS
S, 2025
TH.E.H.-106 : AraA{-eh refomet

gy ;3 §U2 SIfeFaH 37F : 100

qig : J&F GUE G 77 T FRYITTEAR J99 & IW ST/

Qus—ach

T : 39 U G fHgl g g9 P W 8| FoIFH g9

T T YT 700 Vs3] 7 T 2%20=40

1. faf= 9sR &t REei ® AR S|
TRNIcHeR STEIAI3T o TRoTH 2Bd § 31 374 o= &

FITF § ?
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SIS TE ohi ATYRON ohi SATEAT hiTod | TLhR R

sqeh foritad ¥ -9 39 fF 9 § 2

HUUM 9 FUUE B G- T -1 R & ? frel o

% YR & FYF FRF hH-HAE Bd § ?

STUeTRA ST IR Bl § 1" 1 3719 36 A

T HEHA E ? I S & gAY | deh SIfeg |

gus—d

T : 39 Gue Q foel e g9l & I T TAFH

5.

6.

T9T T 3T T 400 VISl F i@/ 5x12=60

3f|d 9 e (Median Voter Problem) &
T 7 9 ST SieX 1 Ha/foeR ar] S ¥ 2

T & TEEAT 0T W Tk faveivonds A
fefer |
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7. Afgwma g9 (spillover effect) &t =&
ifsa | ford} sreferamen gry s1fireta g vt forg

YhHR 3THS | AT ST Gohell § 2

8. Hfe qom T-Bfc owgsli @ w1 W ¥ ?

(aWal

T foreetoIoT ¥ 37 STALRONST T 319y TART

F41 ?

9. Hw ffeam snfiew 3o wR gR1 i & franf-aa

a1 Sa €2 S8 o HAifara Tafeared € 2

10. fr=fafes § 9 fe=<l S W afvra fewfomt fafe .

(37) Fehaeh A™SH (indicative planning)

(9) fora smam st yfem

(@) foxita 9@
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11. TLHR N HE M & T hi-91 31feer fifae

BT § 2 ST HUATOT qen e shariaor §
SR Sy |

12. T=afafed & 9 fo<l @ & 9 3R Jdd .

() wfaeaedt @ TR-gfaeaedt swqe

(i) TS G qA1 YSTd

(iii) HrESieh 999 Td |HTfSeh =991

X XX XX
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